@ x+(x+1)+(x+2)=57
@ (x-1)+x+(x+1)=57
® (x-2)+x+(x-1)=57
@ x+2x+4x =57

® x+(x+2)+ (x+4) =57
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@ 2(7T+x)=x+7-18 @ 14x-18=10x+7
® 4x=x+7-18 @ 70+ x-18 =2(10x+7)
® 2(70 +x) = 10x+7-18
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@ 454+x=39+x @ 454+ x =13+ 3x

® 45 =3(13 + x) @ 454+ x=2(13 +x)

® 45+ x=3(13 + x)



=99 407} 50 cmo| 1L 7R e A2 9] H|7F2 - 3 o7t
Azt g o] Az o2 ke A2
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A AFF ol 22 4000 9, 10000 ¥o] Eof At
E A2 500 YA A=3517]= SHlT
of Lotz = 7ol x /Y St &

@ 4000 + 1000x = 10000 + 500x
@ 4000x + 1000 = 10000x + 500

® 4000x + 1000x = 10000x + 500x
@ (4000 + 1000)x = (10000 + 500)x

® 4000 + 10000 = x
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@ 0.05x—0.03(800-x) =8 @ 0.95x+0.97(800 — x) = 8
® 1.05x+0.97(800-x) =8 @ 0.05(800 — x) — 0.03x = 8

® 0.05x + 0.03(800 — x) = 8
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